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L. Utijuwupyh wowlgnpqu swthp hwjwuwp £ ubtpppnudught - dpugpnud
Juunwpywo Juwhuuwy utipnpmdutiph wpyniupnd untmoywo (Yunnmgywd, atmp ptip-
Jwd, Ytpulunngwo, ypwunpngywd, wpnhuljuuwgywd) wlmhyutph (pugwnni-
pjudp tupwunmgywop shwunhuwgnn wupwnd gnyph) hpwywu wpdtiph 10%-hu:

2. Uhwujwg wywlygmpjuiu swthp hwjuwuwp E ubipppnuduwhu dpugpmd. Yu-
nwpywd Juwhwunwy utipppmdubtph wpnyyniupnd untmdywd (Yunnmgywd, atmp ptpywd,
tpuljunmgywo, Ytpuinpngwd, wpnhuljuuwgfwo) winmpfutph (pugunnijpjudp
tupwunmgywop shwunhuwgnn wupwpd gnyph) hpwywu wpdtiph 5%-hu:

3. Ugwygmppywiu gmuwpp npudwnpynud £ wgwygnipiniup impudwnpbynt dwuhu
npnymup Juyugutynig 15 (nwuuhhug) wluwnwupught opdu pupwugpnid jwhwnnip’
Cwywunwiuh  Cwupuwtinmpjuwt nwpuwopmd  gnponn  pwulmd mubiguo  hwpyhu
thnfuwiugmd Juunwptym dhongny:

4. Znuph wewhgnpyuit mwptijuit wnwybpugnyu gmdwnp juquind B ywuhwnnih?
nhuinudh  ubpuyugdwup  twjunpnnn nwpjuw - wpymuputpnd - hwpqupuo b
wnbnpuwhu puytpupjuu Ynnuhg Cwyjwunwuh Cwupuytnnpjut ynwuu pnigb
Jawpyuwd pwhmpwhwpyh 100%-h b Eyudmuht hwpyh 50%-h hwupugnuiwpp: Cun
npnid’ hnuph wowjgmpyuwu punhwunip gndwpp utpnpouidughu wwydwuwgph gnpon-
nnipjwu pupwgpmud sh jupnn gbpuquugly utpppmduwhtu dpugpmd Jumwpyuo
Juuwhww)  ubpppmuudutiph - wpymupnd untmoywd (Junnmgywo, atmp  phpywd,
Ytpujunmgywd, Ytpwunpngywo, wpnhwljuuwugywd) wymhyutiph hpujuiu wipdtiph
20%n: ‘utpppmuuwghu - wuydwuwgph gnponnnipjuu pupwugpmud  wuwpwnd  gnypmd
Juunupuo Juuhwwy utpppmdubiph gony  hwpgupluo hnuph  wpwlgnipyuin



nunhwunip gwthp sh Jupnn gipuquugty 40,000,000 (punwuniu dhjhnt) €€ ppudp'
pugunnpjudp tupuunmgyudpmd Juunwpywd Juwhunwy ubpnpmdutph:

5. Cnuph wywlgnipjut muptjuu swthp npnpynud £ htnlywy swhnpnphsutinh
hhdwu ypu

1) nhunudh ubtpuyugdwup awjunpynn wmwpmyd pwhwunmh Ynnuhg hpugywod
nuntuuytiu pupy wypwupubiph muntvwyuiun pupnmipyuu dhohu Yondwod gmghy
(wyumhtn’ suhnpnohs 1), b

2) nhunwdh ubtpuyugdwup vwjunpnnn nwpnd pwhwnmh  hpugdwu  opow-
twnnigyniunid muntuuwtiu pupn wypwuputiph wpunuwhwumihg gnjugwd hwunyeh
Uwutiwpwdh (wyunthtan' suwithnpnohy 2):

6. Quihnpnohy 1-ny pwhwnmhpu npdmid b guwhwwnwljwy, npp hwpqupyynid
Utmehuhu Ynnihg nhunuih ttpljuyugdwin wfunpnnn wwpnid hpugywd jmpupuiugnp
wntuwh nuntvwuwtu pupn wypuupht wymuwy -md ubipuyugywsd uwunnuyh
hhwi ypw wpifnn dhunpp puquuguinygny wn wwpuiuph hpugnidhg unwgwd
hwunyph’ punhwunp  hwunypend - dwutwpwding - (wjunthtn” - wwypuiiph Yonywd
quwhwunuwywu) b vnwuwny hpugywd nuntuuwtu pupn pnnp wypwuputiph
lpnJwd  quwhwnwluiutiph hwupwgnidwpp: Cung npmd” wwypuiiph winbuwjuia
pupnmpEuu gnighsp uwhdwuynd | dijuwnpyh mwupyw guuyh hhdwu ypue: Uypuuph
wmuntuwut pupnmpyut uwhdwuugh gmghsh (ophuwy” 0.3, 0.4, 0.5 U wyj) ntaypnid
wnynud b winuty pupdn thurgnpp: Swpdh wnutqny Ytpntgyuyp’ sunhnpnohy oy wgnn
quuhwunuwwiup hwygupyymd b htinbywy putiwatih hpuw Jpu’

G, = Zil (Pi X %), npuntm’

G1' sunhnnpnohs 1-ny wnpynn quuwhwwnwyuiu.

N' muntuwwtiu pupn wypwuputph putwy.

P! i-pn muntuwyytu puapn wwypuitiphu winymuwy 1-h hhdwu ypu npywd dhugnp.
S i-pn muntiuuwtu pupn wypuwiuph ywtwnphg unugywo hwunye (ppud).
TS' punhwiunp hwunype (€ npuad):



Unynuwy 1

Uwpwuph munbiuwjuu pupnynipju gnighy Uhwynp
0.2-03 12
03-0.4 18
0.4-0.5 24
0.5-0.6 30
0.6 -0.7 36
0.7-0.8 42
0.8-0.9 48
09-1 54
1 U wytgh 60

7. Quthnpnphy 2-ny pwhwnnihu mpynid | quuwhwnwjuu wnyniuwy 2-nd

utinuyugywo uwunnuh hhdwu ypw: Uypwuputinh wpmwhwuntdhg hwunypnd

wnuntivwybiu pupn wypwuputph dwubwpwduh vwhdwuwht gnighsh (ophuwy’

6, 12, 18 L wyju) nptypnid mpynid £ wnwdly pupap dhwynpp:

Unnwuuy 2
Sunbtiuwwtiu pupn wypwuputinh wpnmwhwunidhg hwuniyph Uhwynp
dwubwpwdhu punhwunip hwunypenid (nnynuwyht wpmwhwjmnipjudp)

0-6 0

6-12 4

12-18 8

18-24 12
24-30 16
30-36 20
36-42 24
42-48 28
48-54 32
54-60 36
60 U wytih 40

8. Spudwnpynn wowlgnipjuu swthp npnptnt hwdwp swthnpnphy 1-nd b

suthnpnohy 2-ny mpjwd guuwhwwmwlwuubtph hwupwgnidwpp puquuywmyynid £

wowlgnpjuu’ unyu hwytpwoh 5-pn Yhnng vwhiwugwd mwptjut wnwyb-

Jwgnyu gnidwuph b pwdwuynd 100-h: Gpl unwgywd gnidwpp ghipuquugnmd k




wowlgnmpjuu duwgnppuyht gnidwpp, wyw wowlgnipiniup mpudwnpymd L

wowlgnipjut  duwgnpnuyhtt gnidwph  swthny: €wpyh wnubny  Jbpnugyugp’
wowlgnipjuu swthp npnpynid | htnbyjw) puwuwath hhdwu ypuw.

% X AC, npntin’

G1" yurthnpnphy 1-ny mpjwd quuhwmwljwi.

G2 ywthnpnyhy 2-ny mpdwd guwhwmwlw.

AC = PT+ IT*0.5, npntin’

PT' uwjunpn wwpjw wppniuputipny Cwjwunwiuh  Cwupuytimnipjuu
yhnwlwu pjnist ydwpywo pwhnipwhwpyh gnidwp,

IT" Ywjunpp wwpjuw wprymupubpngy Cwjwunwuh  Qwupwwbinnipjwu
yhnwlwu pynigt yawpywo tijudmwyht hwplh gnidwp:

9. Upnwnpnipjuu dbjuwupyh nmwpjuwu hwonpnnn wmwphutipht gwhwnnih
Unnuhg wowlgnipjuu gmiwpp unwuwnig htimn Goqpuwd hwupluyhu hwyp-
Jhunynipjuu ubipuyugdwu ntiypnid, tph

1) hwpltph swihp uwjugnd E, wyw pwhunmu wuwpumwynp L dGygpunywd
hwpytimynipynmiup  ubipuyugulynt opjwuhg htmn hugopw dwdjnmd npw
Jtpwpbtpyu) gpuynp wbnbuguty twjupwpupmpyuup b dtudygw dwudytmnid
Cuwjwunwiuh Cwipuytinnipjut yhnwljwu pnigt yupunwpdauly gnyjugwo nmwp-
pbpnipjwu gnidwpp.

2) hwpytiph swithu wybpuund £, wyw whwnniu wupunwynp E dpgpunyud
hwyytnynipmiup  ubipuyugutint opjwuhg htnn hugopyw  dwdjiinmid npw
Jtpwptippuy qpuynp wmbntjuguly vwjuwpupnipjuup b hpwjwunt £ unp nhunud
ubipuyuguty” mwpptipmput gnidwpp unwuwnt tyuwnwyng:
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